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25.3.5; 23b ([7 mwn] 538 oW 7013W) 2 25a (2217 RS [N ROW) JWIRY 1109)
I 7 mwn: ingesting inedibles vs. ingesting forbidden foods
a  If he took an oath not to eat
i And:ate dirt - not liable
ii  But if he ate: forbidden foods — liable
1 Dissent (©”): exempts
b In parallel: if he took an oath (e.g. to ban his wife from n&in of his property) if he had eaten — and he had (only) eaten
forbidden foods, the ban is valid
i Resolutionl: in the X, he said “9218 ®Y” without explication — only proper foods included
1 But:in the 89’0, he explicated ma»v ,m5a1 etc.
(a) Challenge: such an oath is invalid, as he is already under oath from >0 10 to avoid mYas etc.
(b) Solutionl (581w1 27,7211 *): if he foreswears permitted and forbidden things
(c) Solution2 (57): if he explicates an amount <m13 (13219) or states unexplicated (™5 — that a person may
generate an %2R TR of minimal amount)
2 Analysis1:
(a) 77 prefers to maintain nywn as a consensus (not just »")
(b) 571 including permitted items is ineffective — the notion of Y513 ML'R2 MOKR Yy N MR only applies
when the second 1Rk comes of its own accord, not generated by a person (e.g. n%21 on 2"nv)
3 Analysis2:
(a) 5”r we understand why w™ exempts — he requires 12 for a 127y (2:3 man)
(b) 7% w™ exempts because he rejects 9513 MMO*R- exempts for eating n%21 on 3”7V (only liable for n%21)
4 Analysis3:
(a) 57 this oath is reversible (103 W% — could obligate himself to eat a w”3 of 1713, not banned n"nn)
(b) 2”7 oath isn’t reversible — how is it valid? (jam "7’s suggestion is rejected)
ii ~ Resolution2: as per X171 — only eating dirt, which is inedible, isn’t considered n%3x; not true about m>13
1 Suggestion (»71 *7): support from end of mwn - eating m?»>11 is considered "n%»ar” (unlike dirt)
(a) Block: in that case, he already ate and then took the 173, contingent on eating; here; he has accorded it
significance; who is to say that he considers n%>23 when he takes the oath about the future?
II  na27 discussion about Y912 19o'R in the context of M2 ny1aw
a  Explanation: approach that accepts 9913 MR — similar to 401 MR (e.g. R that became nwW - all agree to validity)
i And: one who rejects it distinguishes — >0 1708 is within one object; 9515 110'R expands to other objects
b Ruling: (5913 108 1"nY) one makes an oath covering n’xn, then another covering va1» 08N — 0RN bound by both
i Challenge: this is obvious
ii  Defense: ™0 that 5912 190® only applies to a self-generated 11v’& not one made by participant — 9"np
1 Challenge: ruling that one act of eating could generate liability for 4 mxon and 1 owx:
(a) If a xnv (1n) eats a9n (2n) which is 9m (3n) from PWTPIN (M>PN DYR) on 2"V (4n)
(b) »7: add a fifth nxon - if it was naw and he took it out to 9”17 in his mouth
(i) Rejection: that isn’t generated by the act of eating
(c) Explanation: if 9913 MR works here, he could’ve made an oath against 25m o™nn - 5t nron
(i) Defensel: rulng only covered “organic” n*1o'R, not generated by people
1. Challenge: the wTpn was also generated by people
2. Answer: w1pn might be 7131 — who is joan viTp
(ii) Defense2: allow for a generated 710°R — but not one that can be revoked (nyawn %y PorwI)
1. Challenge: wTpn can also be revoked
2. Answer: we already established that the w7pn here is 7131 — irrevocable nwyTp
(iii) Defense3: mxon listed here are all ny12p nRYN — not T NYY
1. Challenge: ©WTpn NR NORY RNV is TN’ AN
2. Answer: may be the case of a ®'w), per 8™ (n11n) — he brings a ny1ap nron (NPYWV)
Defense4 (»wx 77): only applies to 1o'r that have a minimal Myw; nyaw could apply to v”
1. Challenge: wTpn applies to a minimal amount
2. Answer: it also has a Myw — a"v
(v) Defense (xr12:80 2wn “): list of mron only includes cases where 1771= n73; 711 "2 NV is a IR
(vi) Defense6 (a2379): list of violations only applies to edibles; n»1aw may apply to non-edibles
1. Challenge: wTpn applies to non-edibles
2. Rather: list only includes nnox that attach to tangibles; maw may apply to intangibles
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